FHB0FEE FRTEEE IS T AL BRIR/NEAR 1
48 160 (16) 5H 20H (36) 68 22H (58)
1(R) 1000 |fiszFn st 1(8) |3 AR (o)
2(B) [Fep et 20K) 2(4)
3(k) R B A R 3(F) [GEURIELR T4 B
40K) &) |nEvo R AR
505) 5(+) [zr 6o H 500 | L o
6(&) [Tt kgt 6(H) 60K) | i B
70) | Ak ) 1R [1ELER PTARHA®@
8(H) B0 [T b 2 ) (s 8(&) B o - o4
9(B) |4/ TOEEMAER 9(7K) | /N BAFD 9(%)
100CK)|#a B4 10(K) 10(8)
MO s 1(&) 1R 7 — B
1260|117 AMD 12() 1200 Dl A
1B\ FNTAND —FF THK 13(8) 130K)|5FEETRFE ©
14(+) 14(8) TES BEZEE==16)
15(8) 150K)|— SRR ~18H 15(£)| ALTHH
16(A) 16(KO[NFHRZ (1 ~44) 16(10)| 7 A
IO i o Gl IV IS (P 1708t i
Les R 18(#) LD e S ke
T\ T 00| KR 2 toco| L 7P
20()| SIS - 64F 20(8) 200K)| i/ NEAIFD
21(%) 21(R)[5/19DIRERZE A 21(XK) E%";ﬁbﬁﬁ;; 7O
22(B)|FESBL-PTAKRS 22(:K) ggf%%@@/\*w %) 22(%)| 72 L LIE T E©
23(R)|1/22 HREFIKE R 230K 1R (5,5 F) SIES s SN
2(J0| ERHIE EEATEDO 24(H)| FHERH D 24(H)
O e B i P e B o) 25086/ 2355 A 3
26(R)|WRZEES 26(t) 26| ZESTEH@
21(&)|PTAEA LTS 27(A)| & IRENLD 270K)
28() 2808 | SEETHE SIS AL S
29(A)|HEFI D H 29(U)| FEEFAIM@ ALTHH 29(&)| 4B AL (THB - 5%
300R)| AR F 300k 200 30(4)
310 5 1 1 I 2




FWRI0FEE FRITEEHE LR T 3L BRI 2
7H 18H (76) 8H 5H (81) 9H 20H (101)
1(8) 1GK) [ 2@ 1(£)
2(R) 2(K) |7 — VB KE® 2(8)
300 | LIS URCHEE (&) |7— M BI® 3
A0k) [osiE s M) 4) ER) Pt el
5() 5(H) k) | 2T A T
6(&) [BaBHRAHD (R ~) 6(8) |7 BIHD T 6R) |1 L
(L) 70K) (&) |[AF SR S (K 55%)
8(8) |HiPENHE R=(T L) 8(7K) 8(1)
9(A) 9(R) 9(R) (B IEEING
10() 57%?%%5 220 10(£) 10(8)
10K) (|l IO i g g W
12(K) ﬁ%qjﬁ%g;&%g 12(8) 12(5K)
13(8)|44F A AT 13(A)| PRI B ~16 H 13(R)|PTAHFZO)
14(%) 14(:K) 14(£)
15(8) 15(7K) 15(%)
16(F)[HED H 16(A) 16(B)[E IR T H
17| ZERTEIG ALTH#E 17(&) 17RO R
18(7K) 18(1) 18CR)| i 6422 ADEIY;
19(R)|AER2 NV E = 19(8) 190K)| @
2003 | AR AV BB E 2 20(A) 20(R)| 777 1EE®
21(%) 21020 21(&)
22(8) 220K)| 257 1hA S 22(%)
23( BD[KIK AR = 23(K) 23(B)[# 5T D H
2400 sl OKPcHAT ) 24(%) 24(R)[IRAEIR A
250K|RZER  TiKIKEEERES 25(%) 25CK)| 7 77 1EE®
26(A)| i K Pk FCEk = T H 26(H) 26(K)|ALT#H
2708 |1EHE 27(8) TIOS KA ¥
28()| IR 28CR)| ZEXTEEHO 28(&)| 7 v/ A A
29(H) 29(7K) 29( )| i Hh AR ET A ki~ 30 H
30(A)| 7 — L BARD 30(AR)W OB IR E A 2 30(H)
314 31(&)




FWRI0FEE FRITEEHE LR T 3L BRI 3
10H 21H (122) 11H 20 H (142) 12H 16 H (158)
1(A) 1(K) 1(x)
200 |2 S 2&) 1A 87 =R H R 28)
3(7K) | T 2B (i - 4 5F) (L) |BAE T = AL UL HERS 4% 3(A)
4RK) 4(H) 40K) |eiils ZESTHEEHO
5(:) 5(R) [11/3#&k%EH 5(7K)
6(+) 60 | £ AR IS FFRDED) g
18) | ELZe~vTV 709K) (&)
8(A) |tkBEDH 8(K) [ R (BB T35M) | 8(L)
o0 | S S T o%) [REREARD (R %) oH)
100K) 10(%) 10(R)|EEEER
(R 3FEEF R (WAZEFRE) [11(8) TR FAHE R - A H RO
12(8)| 1455 2 (Vv N A ) 120 )7V — 1Rk 120K0| F DB EAS -8 AN R ©
13(%) 13() 13(AR)|F AR EAT - 18 A 1 7K O
B~ TR ks raoio| G I ST @ 1408|500 A 7 D)
15(A) 15(R)| 6 EZF kAT () @ 15(1)
16(:1) 16(%) 16(H)
170K)| SRR — /L IEE) 2R 17(%) 17(B)|ALTH:#
18(R)| AL T4 18(H) 18| L=
to@)| TAAEEAEERE L 190K E U2
20(%) 200R)| LR = 20(K)
21(B)| kP R% 210K)| BRI 7E 5 R 2 21(&)| 277 e X
22(R) 22(R)|ALTH# 22(B)|FREFIRINE
23() 23(2)|EhJ7 ik O R 23(B)| RE#EA R
240K)| L S HF 2 24(1) 24(R)[IRAEIR A
25(K) 25(8) 25(21)
26(%) 26( A)|kBE=#® 26(7K)
27(%) 27(0) 27(XK)
28(B)|HiPEY 7 hR2 28(K)|—h A XS e = 28(%&)
29(A) 29(K)| B ey vl B2 29(H)| AP H ~1.73
30(R)| AL H = 30(%&) 30(8)
310K) 31(A)




FWRI0FEE FRITEEHE LR T 3L BRI 4
14 17H (175) 2R 19H (194) 3R 12 (206)
100 |72 L 1) | o 1(2)
20K) 2(1) 2(1)
3(K) 3(H) (/)
4(&) ide R A 4(H) 4(H)
5(4) SO0 [SRea FRAEDR  |seo| SIS IERASA
6(H) 6(7K) |5 2[E1 h R Mg 2 6(K) | R RS
%) 168) |l BepI 2 LESI el TN
8(:K) |37 AR ZE 8(&) 8(E) [BAM R E =
90K) |ZE B HIES - 64F 9(%) 9(%)
10(R)|FEFMEL - 24F 10(8) 10(B)|ASEEANG
11(®)|FE T HE3 - 44 A EEFREDH NR)REIRFE R 3/17
12(4) 1200\ S o 10| i
13(A) %;Qﬁ;g ~ 13(K)|ALTZ:H 130K)
14(R)[AD R 14(K) 14(R)| 50 O
1500 efdHis ZEREHO 15(&) 15(4)| 2 3k E @
16(K) fﬁﬁ%ﬁ% (&) 16(L) 16()| e s 3K
17(R)| RAE R EZ BRSO 17(8) 17(H) ii;if %%Eﬁ@w
18(&)| 1A — = 18(R) 18(R)| 230
19(+) 100J0| J  e gy 190k e e B
20(8) 200K)| B A E R E L = 20(7K)
21(R) 21(K) 21(R)|FH D H
22(:K) ;ﬁgﬁf_ﬁﬁi 22(%&) 22(%)
230K)| —F TR 23(%) 23(%)
24(A)| ks Bz R AT St el A2 i = 24(8) 24(8)
25(&)| AF—HE3~64F 25(A) 25(R)| P IH B =
26(L) 26(4)| eiFl = (Va5 #k) 26(:K)
27(8) 27(7K) 270K)|FH =
28(B)|ALTHH 28(K)|6FEa kD= 28(K)
290K AR 29| 1B MR T A2 15 3 K AR Blfoe R
30(7K) 30(1)
SR TZAFH =124 31(H)




